H & 0l & AHS B Ml A

20253 =& 1 3 LPHSIH S Al

SN ZAI
Hu: CANZ(RELX SN/ NAUTAD

Sl TAIHE S EER=E)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
S Al 16,922,871 15,105,786 1,817,085
= 50,000 50,000 0
= 300,000 0 300,000
& 6,000 6,000 0
Al 16,566,871 15,049,786 1,517,085
CANS(=ERXNGNL/ N AKLEAI) 10,880,448 10,516,217 364,231
CAA R 110,079 111,829 A1,750
SAH = 2 100,720 102,470 A1,750
203 AR =ZIH| 15,750 17,500 A1,750
03 A= H 2| 15,750 17,500 A1,750
OF2AIE SAIY FX(0AEZ)
Zd&d 1,800,000& 1,800 2,000 A200
O=ENLAH= A2 =2 (0atE)
44 1,800,000 1,800 2,000 A200
OXISIHEA =EI(0laHE2)
& 1,800,000 1,800 2,000 A200
OZ AR AN =EI(0 A=)
& 900,000 900 1,000 A100
O A2t g2 =T (0larEY)
44 1,800,000 1,800 2,000 A200
OZAITHY MAY 22 S FRFA (04
Z22) & 1,800,000 1,800 2,000 A200
OFQU=AY LR FT(0AMEZ)
& 900,000 900 1,000 A100
OgFaoe 2 LRI (M2
44 1,350,000 1,350 1,500 A 150
OdiJh 2 2 FA(MAEZ)
& 900,000 900 1,000 A 100
Odtezie] A2 =T (0atE)
& 900,000 900 1,000 A100
OA=XE g2 = (0IaEY)
& 900,000 900 1,000 A 100
OEX 38 & 2el g =T (0&EY)
& 900,000 900 1,000 A 100
SADIBEEY 10,770,369 10,404,388 365,981
CAHE 2L 2,422,040 2,202,040 220,000
401 AIEHIZL 20| 2,422,040 2,202,040 220,000
01 AlZHI 2,411,960 2,191,960 220,000
O3J18 nE1N~UES2 TAHEZZ Of
ESA &% 3,000,000 *100m 300,000 100,000 200,000
O3J18 MR2l 3813 ~ so|nt3g 2t
CAAEEZ HESAHEHNES)
100,000 *200m 20,000 0 20,000
SAHEREY 22kl 982,000 832,000 150,000
401 AIEHIZL 20| 980,000 830,000 150,000
01 Al&ZHI 980,000 830,000 150,000




2A:

A CADHE(BELXSNL/XALTAI)
Selr TADIBES EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
Octeds g & A-JHISA
250,000 *400m 100,000 0 100,000
Odes 28 ATIHISA
250,000 *200m 50,000 0 50,000
CADIBAIE S22l 108,891 112,910 A4,019
201 Bt ] 72,891 76,910 A4,019
01 AlR2telHl 36,171 40,190 ~4,019
Ogxs 2= & 232 el 2 4
ZA(0aEH) 3 26,136,000 26,136 29,040 N2,904
Ogxs 20U 23512 el SFFH
olatE) &4 9,000,000 9,000 10,000 1,000
OB ANE(E=s 20, 232 JHel 2=+
o) =Z&Z(0larE2)
& 360,000 360 400 240
O3t & S3J1& Jt28 |A2e (0
2) & 675,000 675 750 NAT5
CAZ2H(FERXRNGNL /N ARLEAI) 5,640,774 4,246,734 1,394,040
= 50,000 50,000 0
= 300,000 0 300,000
Al 5,290,774 4,196,734 1,004,040
SAICIXtRl2te) 5,640,774 4,246,734 1,394,040
= 50,000 50,000 0
= 300,000 0 300,000
Al 5,290,774 4,196,734 1,094,040
SAICIRtQI2te] 228,774 224,734 4,040
201 Zet=d] 39,100 34,900 4,200
2 55234l 23,800 19,600 4,200
OZANZZANEE S328H(&I], =5 S) 13,800 9,600 4,200
—Jgd M FAXH H|Rs
600,000& 7 4,200 0 4,200
405 THaHE S| 1,440 1,600 2160
01 Tt ESF=H 1,440 1,600 A 160
OZ=ZEJNHE AL U 23 2L (02
2) 1,440 1,600 A 160
—3J188JI & 1,440,000 1,440 1,600 A160
a2l o1 F Otg ZEA(NLASBUHSI13) 1,060,000 0 1,050,000
207 AIHEH] 50,000 0 50,000
01 AR EHH| 50,000 0 50,000
Ogotel 6% SH0te ZdAY 25t
ns 29 50,000,000 *14] 50,000 50,000
401 AIEHIZL 20| 1,000,000 1,000,000
01 Al&ZHI 1,000,000 1,000,000
O&botel o FA0te =8 SAH2024E X
BAEUSIIS) 1,000,000,000& 14| 1,000,000 1,000,000
den ol 2EEuE 243 T MY 340,000 340,000




SA: SAID
A CAZS(FELXSENL/XNALEAI)
Rl ZAICIARR 2| (SH9 H2)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
£ 300,000 0 300,000
Al 40,000 0 40,000
201 er23| 10,000 0 10,000
01 At2teltl 10,000 0 10,000
OdEI N2+ 10,000,000 » 14 10,000 0 10,000
207 AR 30,000 0 30,000
01 = 30,000 0 30,000
OzZEdd IIAHZH +EEY
18,000,000 *14] 18,000 0 18,000
OzZEdd BIY 2
12,000,000 » 14 12,000 0 12,000
401 AlEBIYL S CTHYI 300,000 0 300,000
s 300,000 0 300,000
01 AlZHI 300,000 0 300,000
OE?—H:IEHCI j«II-I/\l/\—i alD il%)l _g_/\l_
300,000,000 x14] 300,000 0 300,000
£ 300,000 0 300,000
208 2e/(FEL XML /RALZAI) 166,254 96,454 69,800
< 6,000 6,000 0
Al 160,254 90,454 69,800
a2 166,254 96,454 69,800
< 6,000 6,000 0
Al 160,254 90,454 69,800
202 FH 146,254 76,454 69,800
201 fet= 3| 1,800 2,000 2200
01 AtR2t2l] 1,800 2,000 2200
OZNEFH 2 MA(M&EY)
& 540,000 540 600 260
OZ12 FHl &7 7 (0aEZ)
2 & 360,000 360 400 40
OZNES2Ae|MANT FA =L (0AEZY
) 23 900,000 900 1,000 A 100
401 AlEHIYL S THYI 96,000 26,000 70,000
01 Al&ZHI 96,000 26,000 70,000
OZ 3oz Qs S=UXIEHAICH wXl
14,000,000 *5IH 2 70,000 0 70,000
HY2HZHI(SAID) (DIEHDIIE 157,075 168,061 10,986
el 2| 49,557 49,197 360
el 2d| 49,557 49,197 360
101 QI2AHI 49,557 49,197 360
03 SRA(RIH )22+ 49,557 49,197 360
Oo=d32eH 49,557 49,197 360
—IIE=E 2,040 1,680 360




SA ZAID
M HM2AAHI(TAID) (OIEHDIE
CHRl: oA 29| (Gt H2)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
EYNE
B 50,000 *1%* 128 600 360 240
- SMAHA
A 80,000+ 1 *128 960 840 120
|=ZH| 107,518 118,864 A11,346
Jl2&y] 107,518 118,864 A11,346
201 Lete | 28,408 31,564 N3, 156
01 AF222ll 28,408 31,564 13,156
OSAIEX R(0larEZ)
A 4,320,000& 4,320 4,800 2480
OS22AlHI(0larE )
dY 12,928,000 12,928 14,364 A1,436
OBt 2 (0 A EY)
ZH 1,080,000 1,080 1,200 A120
O2R2 TARLYI(0ArE2E)
A 540,000 540 600 AB0
OARZ =H22HI (M A=) 7,380 8,200 A820
—=2AD| 2l ZE 900,000 900 1,000 A 100
—I2IE %2l A 180,000 180 200 A0
—=2AD| £ ZE 900,000 900 1,000 A~ 100
—DRIE EU(E%)
&3 3,600,000& 3,600 4,000 A400
—Z2iy EW(ZEH)
ZE 900,000 900 1,000 A 100
—PC 22| ZE 360,000 360 400 A0
—JIEF #=2/Hl ZE 540,000 540 600 AB0
OJIEH AFRZE2IHI (0l AEZ)
F3 2,160,000 2,160 2,400 A240
202 Ot 66,960 74,400 NAT,440
01 2oL 66,960 74,400 NAT7,440
OZTLHOHI (Ol At L)
AE 51,840,0002 51,840 57,600 5,760
o208 (ol A& )
AH 15,120,000 15,120 16,800 A 1,680
203 R E=XY| 6,750 7,500 AT50
01 J|2A2HARFNY| 2,970 3,300 A330
OFANAHLZE I ASHA LTI (0l A
) I 2,970,000 2,970 3,300 A330
M BASYARZXIH]| 3,780 4,200 N420
ORANSILRFXIH| (0l A=)
A 3,780,000 3,780 4,200 420




